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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states .

F during the two years 2021 and 2022. along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the dat
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female || Qualified (%) | Male : Female
A 18% 54 20% 28:17
B 16% 3:1 12% 5:3
C 12% 75 16% 11:5
D 16% 13211 15% 15:11
E 25% 13:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

v Total Appeared from | Percentage (%) Qualified
i state A-F from States A-F

2021 142000 45%

2022 180000 52%

The number of female candidates who qualified from state B in 2021 is approximately

from state A in 2022,
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states .
F during the two years 2021 and 2022. along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the dat
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female || Qualified (%) | Male : Female
A 18% 34 20% 28:17
B 16% 3:1 12% 5:3
C 12% 7:35 16% 11:5
D 16% 13211 15% 15:11
E 25% 153:12 22% 15:9
F 13% 81 15%4 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Vese Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 2%

ed (%) Candidates

In 2022 for state A, if four female candidates who qualified are not eligible. then what is the average number of female candidates who

qualified (and eligible) from all the six states together in the year 2022 ?

ko =

S

. 5990
. 5900
. 5920
. 5940
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states .

F during the two years 2021 and 2022. along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the dat
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female || Qualified (%) | Male : Female
A 18% 34 20% 28:17
B 16% 3:1 12% 3:3
C 12% 75 16% 11:5
D 16% 13:11 15% 1508
E 25% 15:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Vese Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%

1. 8307:21844
2. 8407:21944
. 8307:21944
. 8307:20894

S

ed (%) Candidates

What is the ratio of the number of female candidates who qualified from states A and C together is 2021 to number of male candidates
who qualified from the same two states in the year 2022 ?
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states .
F during the two years 2021 and 2022. along with the ratio of Males to females among them and Table-2 shows the total number of
candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the dat
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female || Qualified (%) | Male : Female
A 18% 34 20% 28:17
B 16% 3:1 12% 3:3
C 12% 75 16% 11:5
D 16% 13:11 15% 1508
E 25% 15:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualified (%) Candidates

Vese Total Appeared from | Percentage (%) Qualified
state A-F from States A-F
2021 142000 43%
2022 180000 52%
The number of male candidates who qualified from state E in 2022 is approximately % more than the number of male candidats

who qualified from state F in 2021,
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states .
F during the two years 2021 and 2022. along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the dat
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female || Qualified (%) | Male : Female
A 18% 34 20% 28:17
B 16% 3:1 12% 3:3
C 12% 75 16% 11:5
D 16% 13:11 15% 1508
E 25% 15:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Vese Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%
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Objective Question

6 1606 | 1 which method of collaborative learning the main purpose is to develop listening skills in the students ?

. circle of voices

. problem solving

. Fishbowl strategy
. Jigsaw strategy
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Objective Question

71607 | Which of the following Individual difference(s) may not affect learning ?

A. Cultural background
B. Height

C. Blood Group

D. Age

E. Complexion

Choose the most appropriate answer from the options given below :

.A. D and E only
.B. C and E only
. B only

A, Cand D only

b =

Lo
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Objective Question
8 1608 | Which of the following are the characteristics of Mind mapping?
A. Built around a central topic.
B. Use of long sentences and paragraphs to explain the content
C. The branches of a particular topic form a connected nodal structure.
D. Use of images and symbols to represent ideas.

Choose the most appropriate answer from the options given below :

. Aonly

B and D only

. A, Cand D only
. B and C only
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9 1609 \atch List T with List IT

LIST I (CHANNLE NO.)| LIST II (NAME)
A JCH-04 I. PRABANDHAN]
B. |CH-05 II. [KAUTILYA

C. |[CH-06 IIL [SAARASWAT
D. |CH-07 IV. [VIDHIK

Choose the correct answer from the options given below:

1. A-IL B-IV. C-1. D-III
2. A-IV. B-IIL C-II. D-I
3. AL B-1. C-IV. D-II
4. A-L. B-II. C-IV. D-III

Gt 11 g 11 9 e Siforg
T 1- 99 . &t 11 - AT
A |T9a - 04 L |uEE
B. |d9a - 05 1L |olfcd
c. |Z9a+ - 06 Il |8Rwa
D. |d9a+.-07 v |f&fas

i feu U fadedi O T Tl 3R &1 98- DIy :

1. A-II. B-I'V. C-1. D-ITI

2. A IV, B-1II, C-11, -1

3. AT B-1, C-IV, D-11

4. A-I. B-II. C-IV. D-III
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Objective Question

1011610 I yhich of the following is a benefit of using rubrics for evaluation ?

. Greater ease of grading

. Increased consistency in grading
3. Increased subjectivity

. Greater test security
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Objective Question

11 j1sll According to the UGC Regulations, 2018 on plagiarism similarity of 42% refers to which of the following levels of plagiarism ?
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Objective Question

12 11612 |/ Tpe questions of whether a measure that is devised for a concept really does reflect the concept that it is supposed to be denoting. relates
to

1. Measurement validity
2. Ecological validity

3. Internal validity

4. External validity

file:///C:/Users/Administrator/Downloads/31_Live_Histo_B1_E/31_Live_Histo_B1_E_1-150.html 13/107



6/16/23, 7:24 PM 31_Live_Histo_B1_E_1-150.html

waﬁq;mﬁmw%ﬁqaﬁmﬁamw%waswﬁwm@rwmmﬁ fierad BRal . 98 fad

1. BT deaT

2. gif&Ifqea duar
3, faRe® audn

4. GTET a9l

A
A2
A3

Aty

4

Objective Question

1311613 ' Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Surveys conducted over the internet have witnessed a huge growth since the late 1990,
Reason R : Internet users always constitute an unbiased sample of the population.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

9 G B fGU U § : U UHYT (Assertion A) & &0 H fifEd § 1 GR1 39& PRI (Reason R) & &4 T,
HUFHYA A : 1090 F STF P IUY U Sex-e W aiferd Fdeoi & U IS g2 51

BRUIR : Sex-c WAl 94a Saed] & U@ Fsagf Jiaes] &1 a1d 31

SR HY & Hedles H, - f3U 1Y fasbedl ¥ 9 99 Sugad Ik &1 98- Sifui |

AJRRGH TEI§ SIRR. AT Jel RS ©

. A 3R R I I8l 8, AP R, A T T8l U1 el ©
ATEI S AfPTR T TR ©

AT T AT R TS

b =

L

Al
A2
H A3

Ay

4

Objective Question
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14 |1614 Among the following types of sampling techniques. which one is also known as ‘Judgemental’ sampling ?

. Quota sampling

. Convenience Sampling
. Cluster Sampling

. Purposive Sampling
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Objective Question

15 11615 Yrariations in time series data would be best represented by a

. line chart

. pie chart

. bar chart

. scatter plot
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Objective Question
16 1616
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The person who studies the symbiotic relationship between people and the media technologies which they cerate and use is identified as

. Media influencer

. Media sociologist

. Media anthropologist
. Media ecologist
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Objective Question
17 1617

~

A political party broadcast is considered ad alan

1. open text

2. cloged text
3. Lengthy text
4. Liberal text
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Objective Question
18 1618
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The Buddhist concept of interpersonal communication emphasizes

A. Flexible morality

B. Total isolation

C. Sensitive use of language
D. Truthfulness

E. Achievement of consensus

Choose the correct answer from the options given below :

.A.B. C Oaly
.B. C.D Ouly
.C.D.E Ouly
. A.B.E Oaly

SidR-JafGa® SUR & ey § dig 4 31 sauRon & 9 W g4 faar s g2
A, T Afdwa
B. ¥ouf fafafaa
C. 79T T Hdal TanT
D. JIdm
E. Jggafa &t mi
A9 fGu T faoedl ¥ 8 999 Iugdd Gtk &1 98- Bifeld :

R

1. $aT A, B, C
2. %40 B.C.D
3. $adC.D.E
4. BT A.B.E
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E
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4

Objective Question

19 11619 | Give below are two statements :

Statement I : The Hindu view of communication is based on the precept that reality is undivided.
Statement IT : According to the ancient Hindu view language is a means to acquire knowledge.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I 1s false but Statement II is true

b =

Lo
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TE A Py RuTE:

PUF T : FIR & Gaiy H fgg =PI 58 Risid W eemiRd & & gurd sifaursy gidn g1
BY 11 : W 6 ePI01 3 SR HTST 1 3ioi BT a1eE g

SWRIdd Y & Haie 1, =i f3u 1Y fddedl ¥ 9 9ad Sugad STk &1 90 Bl |

PRI G 9a§

L HYF 1SRG 3T §

. PYT 1A B, AP PUT 11 A ®
DY TR, A PTPUT 1 HA ®

ko =

Lo

fM
fA2
53
.A4

4

Objective Question

201620\ fateh List T with List IT

LIST I (Scholar) |LIST II (Specialization/Concept)
A_ [Bharatha I. |Grammar

B. |Bharthrahari II. |Sadharanikaran

C. [Bhattanavaka |[III |[Rasatheory

D. [Panini IV |Speech theorv

Choose the correct answer from the options given below:

1.A-I.B-II. C-III. D-IV
2. A-IT, B-IIL. C-IV . D-I
3.AI.B-IV. C-1I. D-I
4. A-IV.B-I.C-III. D-II

et 1eh 1Y I 11 Y e Biforg

T 1- fagH 11 - [aTRIpaT / EuTRon
G I | e
el 1. | gl
vz L. |39 faia
| e v, | 19 fagia

A
B
&
D

19 fau ¢ fasedl & ¥ 9ad uged SRk &1 99 ST :

. A-L. B-IL. C-IIL. D-IV
. A-IL B-III. C-IV. D-I
AL B-IV. C-I1. D-I
CA-IV. B-L. C-III. D-II

[

PN VL]
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2
1

3

Ay

4

Objective Question

21 1621 ) o person X can do a piece of work worth T 3000 in 6 days: But he engages an assistant Y, and Completes the work in 4 days. Find the

share of the assistant Y in completing the work.

1. 2800

2. 71000

3. %1500

4. 31200
TS Afed X. 3000 398 T a1 fovslt &1 @1 6 fa= & Q1 = Favatl 6. b a8 US> I8/0@ Y &I SUH e el ¢ AR R &l -
AT H QU 1§ | BRI 1 G PR A HeD Y D UK 51 el (524 &I J1d By |

. 800 =T

. 1000 =9T
. 1500 =9T
. 1200 ¥9U

o =

e

Al
H A2
A3

Ay

4

Objective Question
22 1622 || o family consists of a husband and wife, their 3 daughters and 2 sons and their 3 wives,. How many males and females respectively are

there in this family ?

1.5 and 4
2.3and 6
3.4and 5
4. 6and 3

feeft uftar o ufd-uel S=et 3 gfaat. 2 O iR SR et 2 ufeat wnfire €1 37 uftar & s fara gw ud afgant &

53R 4
33R6
43R5
633

o L b

Al

A2
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A3

Ay

4
Objective Question

23 1623 \What number would replace question marks (?) in the series given below ?

1. 6. 14. 40. 108, 296. 808, ?

. 2208
1104
1212
4. 1804

12 €1 et sjen O uyaras B (2) D1 SH-Ul S uiawiita ai

1. 6. 14. 40. 108, 296. 8087

b =

da Lo

2208
1104
.1212

. 1804

b2 —

S T

A

Objective Question

24 11624 | The house of a man is facing towards south. From the front door of the house. the man starts walking and after walking for 20 meters

straight. he turns to his left and walks for 50 meters. After this the man turns to his right and walks for 80 meters and stops there. Find th
distance from the point where the man stops to the front door of his house.

1. 255 m

2. 5045 m

3.50m

4. 100 m

U Hfeki & OR 1 g G40 1 3R 8|1 °R o U dTdl axdTol 4 oafd Io-1 R &Rdl & 3R 20 Hied WY e & 918 a8 30
Il SR Sl § SR 50 HIc Iaid] 81 SHP S14 g 307 alig- 3R Ggdl § 3R 80 HIex Iaidl ¢ 3R 981 ¥eb ofidl § | 34 ik
& 3D b WM AP 3HD R & HHA dlel Xd1el & &l DI g3l J1d Pifery |

L2545 .
- 5045 |
.50

. 100 H1.

—

(2%

S V)
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Al

H A2

|2
A3

A4

Objective Question

25 1625 In a certain coding language :

(a) ‘ON’ is coded as 210
(b) “‘OFF" 1s coded as 540

How ‘SET" will be coded in that language ?

. 1600
. 1850
1700
. 1900

fepil e T A :

(2) 'ON' @I 210 & & H Bfea fHar orar g1

(b) 'OFF BT 540 % U H Picd [ba1 STar gl
S U H 'SET & &4 Geas [l g

T

. 1600
. 1850
1700
. 1900

a0 =

Objective Question
26 1626
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Which of the following statements are contrary to each other ?

A. All movies are thrillers

B. Some movies are not thrillers.
C. No movies are thrillers.

D. Some movies are thrillers.

Choose the correct answer from the options given below :

. Aand C Only
B and C Only
. A and D Only
. Cand D Only

PrafafEd ¥ AFH-eH 4 Y- 05 g & [udd &
A Tt FafE InEeR g4
B. $© JaH IHEHRI T8 81 8 |
c. @15 ff gaf JuEeRt 76l gl 8
D. $© afE A EHRI g 8

1 fSu Tt fdedl O 1 g1 3R &1 994 Hifoll

L2 =

da Lo

1. Pad AdUI C
2. HAA B AUTC
3. Hdd ATUID
4.%ad C qUI D

[ 4%y

| s
A2 5

2

A3

3

Ay

4

Objective Question

27 1627 | 1f the statement “Some trucks are not polluting vehicles is given as false then which of the following statements can be immediately

inferred to be true?

A. All trucks are non-polluting vehicles.
B. All trucks are polluting vehicles.

C. Some trucks are polluting vehicles.
D. All polluting vehicles are trucks.

Choose the correct answer from the options given below :

A and C Only
. C and D Only
.B. Cand D Only
.Band C Ounly

R
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gﬁmw--@;ﬁwmﬁa@ﬁﬁﬁ%‘w%?ﬁﬁﬁ%@ﬁﬁ@W-Wauﬁ$maﬁmgwa@rﬁwmw

A. T TP IRYIUGR] 918 81 &
B. Gift T@ UG a6 Bid B |
C. PV ¢ UGUUBRI a1 §Id €|
D. 9 UEHUIGR! 4167 TP Bl & |

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

LFadAARC
2.%dd C 3RD
3. %dd B, C 3R D
4. HEAB AR C

ALy
1
2
A3

3

Aty
4

Objective Question
28 1628

Which of the following statements is logically equivalent to the statement “All philosophers are realists” ?

. No Philosopher is non-realist

. No realists are non-philosphers

. No non-philosopher are non-realists

. No non-realists are non - philosophers

fFaffad § ¥ oF o oy afds w9 3 -mit arffe guded s 8 sw s anga &

b =

e L

1. 1% 1 geifre Rgyrard TE e g
2. ®is o gunlarEt ReRiFE TEigd §
3. 312 1 TReiie TR-guare) 78 §id §
4. B 1t Rguriare Raeie e 8

[#
x
»
As

4

Objective Question
29 1629
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“T have listened to the parliament speech of the president of the country XYZ once. from that I must conclude that he is a lousy speaker.”
Which fallacy is comumitted in the above statement ?

. Begging the question

. Hasty Generalization

. Slippery Slope

. Ad Hominem

ﬁﬁxm?{%&?gg@ﬁﬁ%iﬂﬁﬁﬁnﬂqwﬁgﬂ%mﬁ g% vy s el § o 3 ue Fsyurdt aaa & Swisd
YT H B dH AN |

L2 =

du Lo

. STEHTYT T EI
 SffaETRG SRR
. ToaeH gad gaH

. cfdg fove & fag

[

I ES V)

Objective Question

30 11630 | Give below are two statements :

Statement I : Niyaya syllogism is only inductive and material.
Statement II : The Aristotelian syllogism is only deductive and formal.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II is true

RECIELEICURIEE

DY 1 T Hd DT 10 a9 $ad HNHATED AR g g g1

b =

BYAT : IR P VT Had HTHATHS 3R HHIRD gl g
SR B & Sl |, - 3T 1Y fdebedl § 9 9 Sugad 9Tk ol 9a- Bifuid |

P IAR IS IA§
Y1 SR 11 ST AT

P IIA R, AT PY I 3T’
DY IR, A PTPUT 1 I ®

S

e

Al

A2
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A3 5
3

|5«

4

Objective Question

311631 yWhich of the following is a benefit that businesses receive from using the Internet ?

. Easier use of satellite radio

. Faster connection with suppliers

. Improved methods of manufacturing

. The ability to eall employees on the road.

Fafafad # sogari & Seac & W 3 O B1F aTe Ay 1 g2

b=

e L

1. Yearse ST & Wi § TRardT

2. 3Mafipdisi & Y @Rd §9H

3, fafmior &1 fafeel & gem

4. TSP R FHARG! T 91 HH DI 4T

Al
A2

|-
A3
A4

Objective Question

32 11632 consider the equation L+M=N. Where L=(100011), and N=(101000),

What is the value of M as represented in decimal format ?

.40
N
.10
=5

FHERUIL +M=NT L=(100011), 3R N = (101000), B!

[ S

L

YHAd WEY H FAR=Ud M &1 513 31 82

PEESCED
—
=]

Al
A2 5

2
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A3 5

3
|24

4

Objective Question

331633 A web page offers a link for users to request another web page. The requested web page contains HTML code and JavaScript code. In th

context, identify the correct sequence of the following statements A-E.

A. The requested web page is displayed on the client computer.

B. The user clicks on the hyperlink and the web page is requested from the web server.
C. The requested web page content is transmitted to the client computer.

D. The client computer processes the JavaScript code using the web browser software.
E. The web server locates the requested web page.

Choose the correct answer from the options given below :

b=
W W W

1 W
¥el-Re

ek
SRR
o= = g

TS a9 Ul JUIad &1 [dieh UR O o (010 gk 49 U Aia- & (AU STHEd SR 8 | Fdfed 99 U H Tadiuaud (HTML) 318 31T
Tt &Y B1s ¥ 1 59 e #f Fufafad st A - E & el 3w @t ugaH $ifog)

A Fafed 99 U9 U6 P Sgex W Wefkid [ear gl

B. TIa S5 fofe TR fdae PRl & 3R 96 9dX 3 99 Ual & forg Fae Well i o

c. Fafed 99 oo ot favgaxg U e Srgere! Ga1ikd & ol 6l

D. U6 SR, 49 FT3oR GIFadR &1 YA Hd gU oilal SRy H1S &1 Gu1e SRl o
E. 39 SR (afed 39 991 %1 ga1 aman 3

el fau T fasedl § 9 T8l 3R BT 90 Bifo :

1.B.ECAD

2Z.B.ED CA

3.EB.C.D.A

4 B.E.C.D A
Al
1
A2,
2
A3 5
3

.

L

Objective Question
34 1634
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Give below are two statements :

Statement I : Shareware is limited - functioning freeware. and normally expires after a week or month.
Statement II : Shareware code can be modified and redistributed.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II is true

TR PyTfRgmE:

DU - TR -SSR BIAIR &, 3R HHIR R TS I8 I UF HIE P I A &1 ol o
FUT 11 : TIRAR FIS BT IS 3R G7:13aiea fm s gwar |

TWRIGd HYA & el 0, 1 3T T fasedi T 9 969 Iugdd STk &1 98- Bl |

b =

PRI G 9T §

FYF 1R GH 3T §

. PYT 1A 8, AP PUT I 3T &
DY TR, A PT P 1 HA ©

b =

= o

Al
A2
H A3

Ay

4

Objective Question

35 11635 | Which of the following should always be regarded as security risks to computer systems ?

A. Chat rooms
B. Cookies

C. Pharming
D. Virus

E. VoIP

Choose the correct answer from the options given below :

A and D Only
. C and D Only
.Band D Only
.A.D and E Only

N
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e & il Yaa $rgeR S yonferdl 3 Hafia qRem siiEs T ST =afeu|
A T =W

B. Poblal
C. B {Pharming)

D.digd
E. df 3ff 311 Y (VoIP)
1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

1. FEAAIARD
2.%dd C 3IRD
3. %adB 3R D
4. PAAA. D IRE

Objective Question

When a water body gets enriched with nutrients, the process is called as :

. Oligotrophication
. Eutrophication

. Mesotrophication
. Dystrophication

e L S =

e US Od e/ SR UiYd dal 9 OF / 9SG oidl & a1 99 Wihdl &1 $el oldl 6 :

1. 3feaUriHRT

2. gumNo

3. AU

4. g
Al
1
|42 2

~———

2
A3 3
3
Ay

4

Objective Question
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Which of the following statements are correct in respect of Green House Gases ?

A. They are generally of light green colour

B. They absorb thermal radiations emitted by earth.
C. Water vapour is a green house gas.

D. Green house gases cause global warming.

E. Ammonia (NH;) s a green house gas.

Choose the most appropriate answer from the options given below:

.A.B.C.D Only
.A. C.E Only
.B. C.D Oaly
.A.B.D.E Ouly

T 3134 719l & e § Faffed syl d A sH S 9wl &

A. 3 HHRITE: BT 8 T 1 Bidl &

B. 3 gudt & Ifold ardig fafaor ot sraxifid et 81
c. Ao A ERu EE

D. ¥ 87139 719 & &Rl YHSHg SHU I gl

E. 311 (NH;) U 44 8189 19 8

1= fau ¢ fasedl © U 981 SR &1 997 Sl :

b =

o

1.®dd A, B.C.D
2. %dd A, C.E
3. %dd B, C,D
4. $dd A, B.D.E

Objective Question

Which of the following air pollutants help in the formation of photochemical smog ?

. Carbon monoxide
. methane

. Oxides of Sulphur
. Oxides of nitrogen

b =

L

FafafEd o ®1F - 91 a1y Jave Ue1 [G/e §f $ie & Huiu ¥ 9gdl $1 Hdl 62

1. BIE HHIGHES

2. il

3. Yo & HGHIZSY
4. AIECISH & HIGHESH

£
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A2

A3 3

3
M

4

Objective Question

39 ||1639 Through enrichment process, concentration of which uranium isotope is increased in the natural uranium?

.U-234
. U-235
. U-238
. U-239

TIptas gon H e R Ienfe & &S0 o Sae uiea gRT 9t o1 82

b =

L

1.U-234
2. 10-235
3. U-238
4, 1TU-239
Al
1
142 2
2
A3 3
3
Ay
4

Objective Question

40 11640 | Three ‘Rs’ used for the mitigation of solid wastes are

A. Recover
B. Reduce
C. Reuse

D. Restrict
E. Recycle

Choose the most appropriate answer from the options given below :

.A. B. C Only
B. C.D Oaly
.B. C.E Only
C.D.E Only

b =

Lo
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T < 3R BT TN 319 SR & U=/ FATH0 F PUTSR. AT -

A Noa
B. Reqd
c. gw
D.¥a
E. k@sad
1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

1.$ad A.B.C
2. %dd B, C.D
3. %dd B, C.E
4.%ad C.D.E

Al
A2
H A3

Ay

4

Objective Question
41 1641

Which was the first education commission of independent India?

1. Sargent commission

2. Kothari commission

3. Radhakrishnan commission
4. Mudaliar commission

AT YR BT TUH &1 ST SH-971 912

1. URule A
:.aﬂaﬁ%
3. AYHIH

4, GERTR M

Objective Question
42 1642
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The National Education policy document of 1986 revised in 1992 suggested

Use of multimedia for distance education.
Linking degrees with jobs.

Abolition of AICTE.

. Focus on research, only for degrees.

1902 T e 1986 P AP e Hifa Fxards & ggd fearmm|

B R

1.@@&[&[%%@ SgHTeHl (Hec IS an) o1 uan
2. feTorat ot ASHRT 8 S5

3. QEHUIEES. @1 3@

4, W%ﬁuﬁ%ﬁﬁa—ﬂwwwﬁ|

H Al
A2
A3

Ay

4

Objective Question

43 1643 The committee for the evolution of the new education policy recommended that no university in India should have more than

affiliated colleges :

50
60
75
100

f{é@&ﬂ?ﬂﬁfﬂﬁﬁﬂ?ﬂﬂﬂ?ﬂﬂﬁ%ﬁﬁﬂﬂﬁ%ﬁiﬁﬁ?%ﬁ%ﬁﬁ%ﬁﬂwﬁ T 3f oS Jas Tel 8l

e S ]

50
60
75
. 100

et e o

Al
A2

A3 5
3

|5

4

Objective Question
44 1644
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Which of the following universities have their locations in Bihar ?

A Vallabhi

B. Vikramshita

C. Shridhanya katak
D. Odantapuri

Choose the most appropriate answer from the options given below :

. Aand D Only
B and D Only
. A and B Only
.Band C Only

fafafad ¥ S eH-51- ¥ foyfdeey fSer d Rua g2
A geaH

B. f[amafemar
c. g Fed

D. SIgragdt
el fau T fasedl § 9 T8l 3R BT 90 Bifo :

L2 =

du Lo

1. dd A and D
2. ®dd Band D
3. %dd Aand B
4, PadA B and C

Al

A3

A4

Objective Question

45 1645 | Which of the following universities were established in the year 1857 ?

A. Calcutta University
B. Bombay University
C. Madras University
D. Allahabad University

Choose the correct answer from the options given below :

. A.Band D Only
. A. B and C Only
.B. C and D Only
.A. Cand D Only

L2 =

du Lo
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fFrafefEaa & ¥ SH-3 fayfeemag oy 1057 8 Rfda g o

A, TaHl fayfaeraa
B. ditd fagfaemey

C. Aa fayfaemag

D. sarerale fayfaereg

3 fau U fadedl & ¥ a9 Iudead SR &1 99 Hiford

1. %add A.Band D
2. HdAA. Band C
3. %dd B, Cand D
4. PaA A, CandD

X
[
A
As

Objective Question

46 11646 | pead the passage and answer the questions that follow :

Few of Man's activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in thei
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. Tl
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal t
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of “great stinking fogs’. These were only really
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was fow
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

London became a city of “great stinking Jogs™ as a result of

1. Household fires

2. Cold temperatures

. Coal combustion

. Excusive moisture in the air

EE ]
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T TR P e U 3R N R wsi & 3w difv -

T4 Bl BT Mafafy T =61 § B! uaiaRr W B1E UHIa = USdl 811 sl 8 GHs ol &% UBR B uafavofiy &fd e as!
foree 31ff e & wreiE, siFdfEe aliel ¥ ia1guay D1 YD1 DTS o T8l 6| AT, feTaidl f5=e! fiufsal § s
ST T WIaHT o1, = U ﬁig@{iww%ﬁmadw%umq DUTC! DT GHE0T PR U T UTaT 747 Sl DIeY
(HETHSICY) B 3o aRARA] &1 Tl & | gAZcs [hiTsH Ugdl o U1 W6l §5 U0 IR Sigal 31ed e faer gai ol
1580 ¥ 1680 & &9 TG DI DI BT ST 20,000 T J §gHR 360,000 T i WATy 51 74T 3R e ‘S3gaR Por &I ST’ §
Wl@%ﬂﬂﬂﬂ@ﬁﬂﬂﬂg%wﬁwaﬁ@wﬁ%mﬁwmﬂ%mﬁ@ﬁﬂm19<*ﬁm$um€rﬁ@ﬂ
541 20 HITT SSEATY & G10R WR PEN & DHRUI aTalarvl STRE 6l 7141 SR Ui 7171 6 13 fEwaR 1052 &1 gu1 Jwrg o Hidl
@] QIR ATlled WA H 2851 HIdl B dglail g5 | 39 oia1d 1, 1056 3R 1968 & =5 arg gl R YRR D ¢
R DRATE P15 | YU HEN Bl SISl D & GUDI §1a GUlaRUl a7 SfHTH (1974) /@ 741 3R 96y YR 3T
mwﬁwg@ﬁﬁmﬁm@aw@a@mﬁaﬁwgﬁl:oa"r'm’raiam?q@u 3R FTR ST H SHI TRE &
HATHA g

v [ BRI TEgaR PERI B e T2
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Objective Question

47 11647 | Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in thet
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. Tt
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal
London inereased from 20,000 tonnes year to 360000 tonnes and London became a city of “great stinking fogs’. These were only really
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was fouw
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

Between 1580 and 1680 imports of coal to London increased

Marginally
Insignificantly
3. Negligibly
4. Substatially

[
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T4 Bl BT Mafafy T =61 § B! uaiaRr W B1E UHIa = USdl 811 sl 8 GHs ol &% UBR B uafavofiy &fd e as!
foree 31ff e & wreiE, siFdfEe aliel ¥ ia1guay D1 YD1 DTS o T8l 6| AT, feTaidl f5=e! fiufsal § s
ST T WIaHT o1, = U ﬁ?g@{iwwﬁiﬁm@dw%mqq DUTC! DT GHE0T PR U T UTaT 747 Sl DIeY
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@] QIR ATlled WA H 2851 HIdl B dglail g5 | 39 oia1d 1, 1056 3R 1968 & =5 arg gl R YRR D ¢

R DRATE P15 | YU HEN Bl SISl D & GUDI §1a GUlaRUl a7 SfHTH (1974) /@ 741 3R 96y YR 3T
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Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in thei
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. Tl
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal t
London inereased from 20,000 tonnes year to 360000 tonnes and London became a city of “great stinking fogs’. These were only really
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was fouw
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The fog of London in the second week of December 1952

A. Reduced the number of deaths.

B. Increased the number of deaths.

C. Rendered the atmosphere over a radius of 20 miles smoke free.

D. Rendered the atmosphere over a radius of 20 miles opaque.

E. Did not make any difference to the air quality or to the number of deaths.

Choose the correct answer from the options given below :

1. B. Cand D Only
2. B and D Only
C.D and E Only
D and E Only

Y TR $ ufeu 3R TN R usi & Sw difvu -

Hd B1 D Mafafe Ul 761 8 ST uaiaRur R BIg WHa - USdl 61| iedl 8§ FHS Bl % YbR @1 gaiaRufiy &fd sier gs!
foree 1Y Siam & ur. sifFdfEa el 9 i guayg B DT DIs BH ol 6| I8, eTaiRyd e siufsal & s
ST b1 WIaeT o1, - Ul ﬁ?ga{iww%ﬁm@dw@?ﬂ?mﬂq DUTC! DT GRIEUT DR IR 1 U 1 Sl DIeIRY
(FEgSiT) B I TRARA] 1 Ui ¢ | JAECs [hiTsH Ugadl o 41 95! 48 U0 IR Sigal s1umid sieifis faem gar il
1580 ¥ 1680 & &9 TG DI DT B ST 20,000 T F FGHR 360,000 T ¥ WAas 51 747 3R de ‘TgaR Por &I We¥' d
YT BV AIYHI U4 TH a7 & BRI HIAe 567 4 a1 # H1oE Ul U= 1 & Ho 3§ TFwR 1952 1 9 & Ui &1 d <
g1 20 Hid SSodTE P SR R TN & HRU GTaraRul SRR 6] 7141 SR i 741 65 13 fawaR 1052 & g1 9ware 3 didl
@1 QYR Ao el H 2851 Al B agIaN] g | S9@ oiaTd 8, 1956 IR 1968 & W= arg g R RERI @ ¢
R DRAT I TT5 | 4T PoN Bl IR D & GPI q1& GATaRUT a7 SFaH (1974) TR0 741 SR 965y GRET B 3T
mmﬁwgwﬁmﬁm@mwﬁaﬁm%ﬁl:oa“fﬂé’raiaﬁm:{.ugﬁ AR TR ARSI H sH R &
SIHA gl

bl

fETaR 1952 & g8 W8 H &g & P U
A. Tl 1 T T et 3iTg
B. TIdf &1 @& a9l
C. 20 1l & RR & IW P argHSH i1 o &1 71
D. 20 HIeT & ERR & SHWR D1 drgHSa HURGL 6l 7147 |
E. 1Y A S{Yal Hidl o1 e 3 g 3ok el STl

A fau ¢ fasedl # ¥ 9l TR &1 997 i ;

1. %ad B, C AR D
2. %ad B 3R D
3.%dd C,D ARE
4.%aa D AR E

A

1
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Objective Question

49 11649 | pead the passage and answer the questions that follow :

Few of Man's activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in thei
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. Tt
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal i
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of *great stinking fogs’. These were only really
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was fow
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Aets of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Aet
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The Control of Pollution Act

A. Was brought in almost 20 years after the Clean Air Act of 1956
B. Stopped all industrial activity.

C. Aimed at improving air quality

D. Focused mainly on dealing with smoke in cities

E. Focused on environmental protection.

Choose the correct answer from the options given below :

. A and E Only

.B. C and D Only

. A, CandE Only
.A.B. Cand D Only

[
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T4 Bl BT Mafafy T =61 § B! uaiaRr W B1E UHIa = USdl 811 sl 8 GHs ol &% UBR B uafavofiy &fd e as!
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@] QIR ATlled WA H 2851 HIdl B dglail g5 | 39 oia1d 1, 1056 3R 1968 & =5 arg gl R YRR D ¢

R DRATE P15 | YU HEN Bl SISl D & GUDI §1a GUlaRUl a7 SfHTH (1974) /@ 741 3R 96y YR 3T
AR T[T H STIe GURI B (G H oHaieyd &4 3 991 BRals 3= 55| 2081 Tal & SRM. RIY 3R IR ARSI H 3l dRe &
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TSl o sfgfan

A. T35 a1 (fUfTH, 1956, & THTHT 20 9N €18 TraT 747 T
B. & Tad YA 3feNie nfafafmi A% A S|

C. P 352 a1 UG H YR BT U1
D. T el H o1 YU 9§ (U iR i=d ol
E. JAIaRU1 GR&T IR Pi-sd Ul

1 fau ¢ fasedl & ¥ 981 SR &1 997 it :

1. $ad A RE

2. %gdAB. C 3R D
3. PaAA. C ARE
4. $TA A, B.C ARD
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Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in thei
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. Tl
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal t
London inereased from 20,000 tonnes year to 360000 tonnes and London became a city of “great stinking fogs’. These were only really
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was fouw
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The passage highlights mainly.

1. the association between vehicular pollution and development

2. air pollution and human health

3. the industrial development of UK.

4. the similarities in development of UK, Europe and North America.

= TR P UleU SR 1 R wsi & 3w A :

T4 &1 BIs Tiafafy ULt 7t & forer vafavur R &< guid = usdar & il & 9ure & &g UoR &t gafaufiy efy ot gt
foree 1y ST & Wi, siFdfEe aliel ¥ iarguay B YD1 DIs B T8I 8| AT, fcTaidl fo-e! iyl & o
ST T WIaHT 1, = U %g&iww%ﬁmadw@?ﬂ?mqq HUTCl DT GHEUT D IR T UTAT 77 Sl DIy
(ASTHEICH) B 3= TRARA] B1 Ul ¢ | GRS [BITSH Ugdl 41 U1 95| 89 UM IR HIadl UG ST [der gsi 41l
1580 ¥ 1680 & &9 TG DI B BT ST 20,000 2 J FgHR 360,000 T Ui WATY g1 74T 3R e ‘93daR PoN &I WS’ §
Wl@%ﬂmﬂaﬁqﬂa@%wﬁwaﬁ@wﬁﬁﬁgmﬁwmﬂiﬁaﬁ@ﬁﬂm19<*ﬁm$um€rﬁ@ﬁ
g4 20 HId SSoHTY P G10R IR PEN & HRU ATalarvl TR ol 7141 SR U 771 e 13 faeaR 1052 &1 guI Jeie o Hidl
@] WIYRU AIlgd WA H 2851 TIdl i 9gIak] g5 | SHB Sia1d 1, 1056 3R 1068 & =5 arg gl o RIS ¢
R HRAE IR | YT FEN BT AU F o §UH! q18 gaiarur Faaor 3fifam (1974) & war 3k wmy JRETF A
AR T[UTa § T0e GURI @1 481 H Safeyd &9 3 991 PRRals 3= gx | 2001 Tdl & SRM, JRIY 3R IR ARSI H 3l dRg &
ATHA gl

eI § gEnd: b a1d 1 SWNR fobar T g2

1. 9161 UGNl 3R faer & & &1 ddy|

2. ATG-UGHYT 3R Ha WA

3. gARCS s @1 S faer

4. gATECS [hsh, T &R SOkt simfva & fgema & woan
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